
Welk getal ontbreekt t/m 10.000?

Oefening 1

1. 6.445  -     =  4.039

2. 7.113  -     =  985

3. 9.448  -     =  2.054

4. 3.726  -     =  1.594

5. 7.853  -     =  786

6. 5.675  -     =  829

7. 9.083  -     =  6.723

8. 8.100  -     =  6.905

9. 4.921  -     =  639

10. 3.278  -     =  1.199

Oefening 2

1. 3.122  -     =  467

2. 7.590  -     =  3.628

3. 4.375  -     =  1.253

4. 9.728  -     =  1.657

5. 9.934  -     =  4.315

6. 6.496  -     =  1.598

7. 4.769  -     =  890

8. 7.214  -     =  6.198

9. 6.554  -     =  3.305

10. 8.440  -     =  6.209

Oefening 3

1. 4.181  -     =  2.667

2. 8.952  -     =  1.783

3. 9.826  -     =  4.715

4. 3.798  -     =  1.642

5. 8.242  -     =  7.050

6. 7.128  -     =  1.959

7. 7.734  -     =  2.180

8. 7.296  -     =  5.299

9. 7.996  -     =  2.077

10. 8.779  -     =  662

Oefening 4

1. 3.575  -     =  739

2. 9.804  -     =  2.373

3. 7.475  -     =  5.477

4. 8.099  -     =  580

5. 7.640  -     =  4.299

6. 7.662  -     =  1.280

7. 9.039  -     =  6.030

8. 2.188  -     =  1.183

9. 8.801  -     =  103

10. 4.535  -     =  2.830
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Welk getal ontbreekt t/m 10.000? | ANTWOORDEN

Oefening 1

1. 6.445  -  2.406  =  4.039

2. 7.113  -  6.128  =  985

3. 9.448  -  7.394  =  2.054

4. 3.726  -  2.132  =  1.594

5. 7.853  -  7.067  =  786

6. 5.675  -  4.846  =  829

7. 9.083  -  2.360  =  6.723

8. 8.100  -  1.195  =  6.905

9. 4.921  -  4.282  =  639

10. 3.278  -  2.079  =  1.199

Oefening 2

1. 3.122  -  2.655  =  467

2. 7.590  -  3.962  =  3.628

3. 4.375  -  3.122  =  1.253

4. 9.728  -  8.071  =  1.657

5. 9.934  -  5.619  =  4.315

6. 6.496  -  4.898  =  1.598

7. 4.769  -  3.879  =  890

8. 7.214  -  1.016  =  6.198

9. 6.554  -  3.249  =  3.305

10. 8.440  -  2.231  =  6.209

Oefening 3

1. 4.181  -  1.514  =  2.667

2. 8.952  -  7.169  =  1.783

3. 9.826  -  5.111  =  4.715

4. 3.798  -  2.156  =  1.642

5. 8.242  -  1.192  =  7.050

6. 7.128  -  5.169  =  1.959

7. 7.734  -  5.554  =  2.180

8. 7.296  -  1.997  =  5.299

9. 7.996  -  5.919  =  2.077

10. 8.779  -  8.117  =  662

Oefening 4

1. 3.575  -  2.836  =  739

2. 9.804  -  7.431  =  2.373

3. 7.475  -  1.998  =  5.477

4. 8.099  -  7.519  =  580

5. 7.640  -  3.341  =  4.299

6. 7.662  -  6.382  =  1.280

7. 9.039  -  3.009  =  6.030

8. 2.188  -  1.005  =  1.183

9. 8.801  -  8.698  =  103

10. 4.535  -  1.705  =  2.830
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